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&5 X 4 .(sr,né) 'Fiﬁﬁb(z)d)ﬁﬁﬁﬁ ﬁ(ﬁzf)é X 4 ‘Fimﬁgégg;ki .Z,s jj(giat:f)é X 4 .:,“-c!): _tiﬁﬁb(z)o)tblsl ﬁ(&zﬁé X 4 J:iﬁﬁ?f)(z)d)ttna .(:.—,mé; jn(gilzcm%)é
P 100kN/M%ZH#BZ % - -~ -|3mERBZ B -~ - -| 100kN/m#%#2% % - ~ -|3mERBZ B ~ -
Zzh st 1.00 | 0.00 ~ 6.66 84.02 | Fhust | 000 ~ 0.00| 1.69 8.65 zhst 1.00| 5.00 ~ 810 84.02 | #hS | 500 ~ 810 1.69 8.65
2 100kN/M%ZH#BZ % ~ -|3mERBZ S ~ -| 100kN/m%#8% % ~ -|3mERBZ B ~
ZhLlst 1.00 | 0.00 ~ 615 77.21 | =nAS | 000 ~ 615 1.87 9.45 ZhLlst 1.00 | 6.00 ~ 7.34 7721 | RS | 5.00 ~ 734 1.87 9.45
3 100kN/mZ#8Z5 | 1.00 | 0.00 ~ 0.29 104.29 |3mZEEZS ~ -| 100kN/MZ#BZ 5% | 1.00 | 10.68 ~ 1151 104.29 |3mZEBZ 5 ~
Zzh st 1.00 029 ~ 808| 100.00| Ths | 000 ~ 808|211 10.64 zh s 1.00 | 5.00 ~ 1068| 100.00 | Tns | 500 ~ 1151|211 10.64
p 100kN/m%#BZ% | 1.00 | 0.00 ~ 0.35| 10517 |3mZEiBZ5 ~ -| 100kN/MZ#BZ 5% | 1.00 | 1064 ~ 1151 1056.17 |3mZEBZ S ~
ZhLlst 1.00 035 ~ 814 100.00 | =nAs | 000 ~ 814|216 10.92 ZhLlst 1.00 | 5.00 ~ 10.54 100.00 | =nLSY | 65,00 ~ 1151 2.16 10.92
5 100kN/mZ#8Z5 | 1.00 | 0.00 ~ 1.33 120.19 |3m%ZEHBZ3 ~ -| 100kN/MZ#BZ 5 | 1.00 | 11.01 ~ 1624 120.19 |3mZEBZ 5 ~
Zh st 100133 ~ 912 100.00 | Fhst | 000 ~ 9.12| 222 11.24 Th st 1.00 | .00 ~ 11.01 100.00 | =nLSY | 5,00 ~ 1624 | 2.22 11.24
6 100kN/mZ#BZ5 | 1.00 | 0.00 ~ 2.03 131.40 |3m%ZE#BZ3 ~ -| 100kN/M%#8Z5% | 1.00 | 10.82 ~ 20.02 131.40 |3m%ZE#BZ 5 ~
ZhLlst 1.00 ] 203 ~ 982 100.00 | =05 | 000 ~ 9.82| 2.67 15.00 Zhilst 1.00 | 5.00 ~ 10.82 100.00 | =0 | 65,00 ~ 2002 2.567 13.00
100kN/M%ZH#BZ % ~ ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zzh st ~ Thst ~ zh st ~ Thst ~
100kN/M%H#BZ % ~ ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zzh st ~ Th st ~ zh s ~ Thst ~
100kN/M%ZH#BZ % ~ ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zh s ~ Th st ~ zh s ~ Thst ~
100kN/M%ZH#BZ % ~ ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zh s ~ Th st ~ zh s ~ Thst ~
100kN/M%ZH#BZ % ~ 3ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zzh st ~ Th st ~ zh s ~ Thst ~
100kN/M%ZH#BZ % ~ 3ImERBZD ~ 100kN/m%#B 2 % ~ ImEHEZD ~
Zh st ~ Thst ~ Zh s ~ Thst ~
100kN/mM#ZH#BZ % ~ ImEBZD ~ 100kN/mM##B 2% ~ ImERBZD ~
Zh st ~ Fns ~ zh st ~ znLsn ~
100kN/mM#ZH#BZ % ~ ImEBZD ~ 100kN/mM##B 2% ~ ImERBZD ~
Zh st ~ Fns ~ zh st ~ znLsn ~
100kN/M%ZH#BZ % ~ ImEBZD ~ 100kN/mM##B 2 % ~ ImERBZD ~
zh st ~ zhs ~ zh s ~ zhst ~
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